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Is it not according to the last Mishnoh — NN 71D IRY ORR

OVERVIEW

The X3 posed a query; does the master of an 72y who is' MmWw v 2211 receive
the 01p of o°%pw oW W if this 7av is killed by an animal. The X723 cited a ¥n*>12
which states that the 01p of a 1717 72 °¥m 72¥ °Xn1 is given half to the master and half
to his heirs. The X3 initially assumed that this 8072 is following the 71X 71Wwn,
where all agree that we force the remaining partner to free the slave (he is a 23wn
MW v3) and nevertheless the master receives (half of) the 01p. Our N1BOIN explains
why we cannot use this reasoning to resolve a previously cited contradiction.
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But previously the X723 did not want to establish that the xn>72 which rules

that he gives half the o1 to his master, follows the 772yR mawn -
- *ya8yY 191 YUY 1299 NOIPT

Where assume that the o017 belongs to the master and the slave’s handiwork

belongs to him -
- 59595 Y97 NNYNA NIYAY 51 1399 139 YW B NV INNT XD

And that xn>>2 where an ox gored and injured the 72V, if it was 127 @ 2%, the
payment goes 1279, that Xn»12 is according to the mwN= mwn as I explained

previously; the reason the X3 did not offer this resolution -
NN NoYa SDIVAY NYT 391 95

" See 20wn 1"7 > v

* On 8,27 and continuing on 2,2 the XN>72 stated that if an ox killed a 777 12 °¥m 72y *xn that we pay half of
the thirty 01p 2°2pw to the master and half to the heirs of the 72v. The X3 asks why do we not say if it
was 121 9w 01 the 01p is paid 1217 and if it is 72v W 0 it goes to his heirs (like we said previously [on the
"X Tmy] that if a n"2amyn was injured by an ox MXyY? M¥Y 5w 0P 1277 127 7w a1°). The X3 gave an answer
which seemingly conflicts with the view of X27. maoin is asking that based on this X713 we could have
offered an answer even according to X21.

? Our x7n3 here understands that according to the 71197X 73wn it makes sense that 1272 03p *¥n (provided that there is
o1p for a MW VA 22WN).

4 According to the 7117nX 7awn (that the 72y must be freed; he is a 219w v 29¥I7), it is understood that YAXY? ¥7° Wy
and we can also understand why the 01p (half of it) goes 1277 (since we assume that by a 7w va 20Ww» the NIR
receives 01p and here where he is a 17X "¥17 he receives 01p *¥m). See ‘Thinking it over’.

5oy "7 'on X,2n. According to the A1WX" 71wn the 1"amyn must serve the master on alternate days; therefore if he
was gored on his master’s day, the master receives the payment for his injuries. This would resolve the
contradiction.

% The only way we can resolve the contradiction of these two NIn™92 is by saying that the Xn>2 of 1277 1P *%11 goes
according to the X1pon of the INNK mwn, and this would be understood only if we maintain 03P 12 W NIMW VI 1WA,
however this is the query we are posing here. We did not wish posit previously that a 01p 12 w* 9w V3 2Wn if we

1
TosfosInEnglish.com



X1 71"7 '010 2,27 P L7"02

Is in order that we should not resolve the query here whether a 1w v 20wn
receives 01p at all

SUMMARY
We forgo resolving a contradiction by assuming a ruling that remains in doubt.

THINKING IT OVER
Why was it necessary for Ms01n to mention "»¥y> 17 7wyn';’ what relevance does
it have to explaining why 03p *¥17 goes 1277?!

see that the X773 later is unsure what the ruling should be and posed a query regarding this issue.
7 See footnote # 4.
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